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PART A — (10 1= 10 marks)
Answer ALL questions.
Choose the correct answer : '
The sum of the greatest and smallest number of
five digits is A
(a) 11,110 (b) 10, 999

() 109, 999 (d 111,110

If the order of matrix A is mx p and the order of

Bis pxn.Then the order of matrix AB is?

(a) nxp (b) mxn

() nxp @ nxm

Transpoée of a rectangular matrix is a
(a) rectangular matrix

(b) diagonal matrix

(¢) square matrix

(d) scaler matrix

The compound interest on Rs. 20,480 at 6%% per

annum for Zyears 73 days, is
(a) Rs. 2929 (b) Rs. 3000

() Rs. 3131 “(d) Rs. 3636

The simple interest on Rs. 1820 from march
9.2021 to may 21, 2021 at 7% % rate will be

(a) Rs. 22.50 () Rs. 27.30
(¢) Rs.28.80 (d) Rs.29
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All natural numbers and 0 are called the
numbers. ’

(a) rational () integer

(¢) whole (d) prime

The logarithm of 0.00001 to the base 0.01 is equal
to

(@) -5/2 (b) 5/2

(¢ 3 (@ 5

Determine the value of logaﬁ[%]

(@) 2 (b) -2
© V2 d V3

If the median drawn on the base of a triangle

ishalt its base, the triangle will be,
(a) right angled (b) acute angled

(c)- obtuse angled (d) equilateral

A point lying inside a triangle is equidistant from
the verticles of the triangle. Then the triangle has
pas its

(a) Centroid
(¢c) Orthocentre

(b) Incentre

(d) Circumcentre
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PART B — (b x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

2 1 3
Solve ——+ = .
(e Solve x-1 x+5 =x+4

Or
(b) Solve the following equations:

3x+7y=13 and 5x-2y=8.

(2) Find the distance between the following pair
of points.

@ (3093
(i) origin, (-2, 3).
Or
(b) Simplify the following:

2 5
o )
o4

(i) 7°+7°.
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(a)

®)

®)

()

(b)

0,3) and

Show that the line joining the points ( :
points

(1,2) is perpendicular to the joining the
(,3) and (6.5).

Or
Find that the points p(L,1), 2(-1,-1) and

I\‘(—-\/ﬁ,\ﬁ) are the vertices of an cquilntol‘:ll
triangle.

3 7 2 b
If A=|4 8| and B=|6 -3|, find A-B
21 4 11
and B-A.
Or
8
IfAd=[l 2 -3, and B=|-5| find AB.
-2

3x1

On what date will Rs. 2,208 be repaid for a
sum of Rs. 2,190 borrowed on 1% Feb, 1963 at
5% p.a. simple interest?

Or
Find compound interest in following cares.

() On Rs. 10,000 for 2 years at 10% p.a.
paid annually.

(i) On Rs. 6,000 for 2% years at 10% p.a.

paid annually.
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Find the equatioh to the line passing through
(-2, 5) and perpendicular line 3x-4y+7=0.
Or

Show that the points (2,-2), (8,4), (5,7) and
(-1,1) are the vertices of a rectangle.

- 7 5
Let A=[3 G:l, B=[ 1 I:| and c=l:'J 4}
7.0] - 8 4 19
verify that A+ B-C =A+(B-C).

Or
1 2 5 6
If A= = if
[3 ‘J and B [7 8} verify
(A+B) = AT + BT,

A man lent at simple interest Rs. 1,600 partly
at 8% and partly at 9% p.a. if the total

- interest received after one year is Rs. 140,

(b)

how much did he lent at 8%.
Or

A sum of money put out a compound interest
amounts in 2 years to Rs. 2,809 and in three
years to Rs. 2,977.54. Find the rate of intcrest
and the original sum. '
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PART C — (6 = 8 = 40 marks)

Answer ALL questions, choosing either (n) or (b)
Fach answer should not exceed 600 words,
16, (a) Solve the following equations:
2¢x 4+ Dy =9
Jx-y=5H
Or
() A doctor charges Rs. 10.50 for 4 visits and 5
bottles of medicine. Ile also chavges Rs. 15 f(.)r
G visits and 6 bottles of medicine, find his
charge for one visit and the cost of medicine
per bottle.
17. (a) Find the logarithms of
(i) 0.1 to the base 10
i) ¥25 to the base b.
Or
(L) Simplify

; 2
o Yy x-2y—1]
x2y S 3

am+2n ) a{)m—ﬂn

(i)

OAlm—(m
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